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Question Number : 1 Question Id : 51714410502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714410503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714410504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714410505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714410506 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714410507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714410508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714410509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714410510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714410511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144429
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714410512 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714410513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714410514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714410515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass
g

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714410516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂm.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714410517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144430
Yes

null

Question Number : 16 Question Id : 51714410518 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714410519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management
K:uogﬁﬁ ABeTEs

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714410520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714410521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714410522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714410523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714410524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714410525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714410526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714410527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714410528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

o8 Edcden:

FoBO) DG,
') doen b [Eren.
Conclusions:

l. All hills are ropes.

. No hill is rope.
1. Some ropes are definitely hills.

BT JTeN:

. SoBO) =T.

II. 2 §0cs S = 5.

1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714410529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714410530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714410531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714410532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %

Sub-Section Number : 4
Sub-Section Id : 517144431
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410533 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
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Options :

Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department

4w TR DerifoS i DoEsde> Hoays

Question Number : 32 Question Id : 51714410535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?
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ASCI| stands for ?
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v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
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Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
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Ministry of Education
g $00(@E0

Ministry of Finance
@gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), ém@&éa‘i@ oolB&o

Ministry of Mines
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RAM means ........
TPal &Mre
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Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram
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The target year for achieving the Sustainable Development Goal is...
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Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels
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Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
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Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004
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Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %

Question Number : 46 Question Id : 51714410549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative
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Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
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Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
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Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
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Options :

Resource model
1 & DB Shoear



[tinerant model

5 % airlEe Sdurae
Both Resource and Itinerant models
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Dual Teaching Model
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Who among the following is the presiding deity of Rta?
& 85D 7P DB 5.8.0 a8y D

Options :

Indra

=lol [m3ln

Yarufa

SHoeantH

Yama

a0

Agni
@ﬁcl
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Which of the following Schools uses the method of analysing the nature of Self in
waking, dreaming and deep sleep states?
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Buddhism
ea:]c‘gao

Samkhya
208

Yoga
i

Vedanta

R nel]
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The path of disinterested performance of duties as service of God is
B osE” ed8 80 06 ABTEe DGR BeP ©othHtd

Options :
Karmayoga
Ele) eyl
1.4
JAanayoga
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Bhaktiyoga
gEairto

Raja Yoga
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The invariable relation between the Hetuand the Sadhya in THE Nyaya Philosophy is
known as
50 S (FHeedEn B ~Re s %6@?6 N0DOGPRY

Options :

Paramarsa
ﬁc}ﬂa‘)ﬁ% otHth

Vyapti
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Anumana
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Anupalabhdhi
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KhyatiVada according to Indian philosophical schools means
griE el R}m[_jc:@ﬁﬂ [DseBo grgd ardSinidne

Options :

Theory of error
&%4 E]EII:IDO@“'FJJ

Theory of truth
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Theory of falsehood
@0l DorosERen

3. ® [ Q
None of the above
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Dravyatva according to the Vaisesikas is an instance of
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Options :
KevalaSamanya
ERS ~aioeiy
1. %
KevalaVisesa
ERTSIAGE
2. %
Samanya- Visesa
%Dé:meég D3E
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Jatibodhaka
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Who among the following philosophers holds that all JAana is Prama?
2 & BIDH éﬁe‘%ﬁe‘é@fﬂﬁ 22 SN (250 VNG )N
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Kumarila
1 % Eraoebe



VVasubandhu

Dot

Prabhakara
Deesd
v [e287°
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The relation between the body and the self is
$B85» l';‘:'léﬁéﬂ D08y DoOFE
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Samyoga
..,-'_""
1@ STelonviret
Samavaya
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Sarupya
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None of the above.
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Which of the following is not a means of Sabdagraha?
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Aptavakya
e930aT°ES

Tarka
étﬁé

Vrddha- VVyavahara
a’nejtﬁ - &9
]

Vyakarafa
argB88es
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‘Sarvam Dukham’is the dictum upheld by
QRO og: ” @i S78 D K}mﬁ%ﬁ&:
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Jaina
@Eﬁ

Sankhya
%Dc-ajﬂg

Bauddha

Yoga
[oxvilat
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The imposition of some quality on a thing where it is not, is termed as
B0 HHHH 2 MHedn oarboss
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Avidya
@Ejtﬁé =lelndle))
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Adhyasa
@B‘gé 200t

2.«
Akhyati
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What it is the Upanisadic view of Mukti?
&2 V2o (Hsebo dwd ek
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Knowledge of Atman
@) 2R
1. =

Knowledge of Brahman
@eT)es epidsin
2. # a

Unity of Brahman and Atman
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None of the above
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What is the name given to Sankara’sSatkaryavada?
FoBHR Sa98; rSEns Ko H
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Vijnana—\ivartavada
ez - Dard a8

Brahma-Vivartavada
20553 - a8 a8

Prakriti-Parinamavada
DE)S - HBearsd ¢S

Brahma-Parifamaaada
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Tirthankara in Jaina literature stands for
e Jeiraios® @‘agozﬂtﬁ e
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Follower of a faith
D) @ihSten

Propounder of faith
) @ O D) (Hersten

A neutral man
ér.éa‘;g EAVAES)

Atheist
LIS

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Jaina metaphysics is known as
Zoe S ezt

Options :



Idealistic Pluralism
@iﬂé{; 2o Ban ®oth

Realistic Pluralism
EPEJIE{} DEod Sasn
2.

Idealistic Monism
@Eﬁéﬁ* Eaéééa’)}{}tﬁaiﬁ]

Realistic Monism
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Prajfa, Slla and Samadhi are the key concepts of
@’jaé, Be), B0 & 1BobTY gy grden
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Hinduism
Ejvotﬁ}'ﬂé&a’m

Jainism

- Be2s0
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Buddhism
e:a%aéﬁ]

Sikhism
4 % 80
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Correct Marks : 2 Wrong Marks : 0

Match List | and List Il and select the code correctly matched:
erdee |, erdae I, 22832 36re 228 o) BE dohdm.

List | List Il
a. Suddha Advaita i. Nimbarka
é}g &9@5}& a'ﬂa}ﬂff}gr
b. Visista Advaitavada ii. Vallabha
DB e9gBEares 33e8s
c. Dvaitavada iii. Ramanuja
FiErgsBards oeseRnes
d. Dvaitadvaitavada iv. Madhva
Qg}eﬁ, @Qﬂg&ﬁ@ntﬁ ERnTAt)
Codes:
OB
Options:

a-iil, b-ii, c-i, d-iv



a-ii, b-iii, c-iv, d-i
2. ¥

a-iv, b-ii, c-ii, d-i
3. %

a-i, b-ii, c-iii, d-iv
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In the following inference there is fallacy of:
BIHS @088 Ko (grod

‘Sky-flower is fragrant because it has flowerness in it’
s Hed @S‘J%@‘@aﬁmﬁﬁ 07NN s0b.

Options :

Anekantika
R oy

Satpratipaksa

S8DBDE

Badhita
e E)es



Asrayasiddha
E_?[_fé'di}?i}tg
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Correct Marks : 2 Wrong Marks : 0
According to the Mimamsa, the validity of knowledge is
oddroR (BseSEm eRi) Senaren

Options :

Intrinsic
©0S8HHE

Extrinsic
o8 SR

Both intrinsic and extrinsic
©@0&8i0, @EPS0 BoErD

Neither intrinsic or extrinsic
®0&850 50, 2irbHo s
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following schools holds that God exists, but he has not
created the world?
& BHS S » EJE}SDééD FrHoedHH a2, 521 & (DuoweR))

eedin :};,%Oééiﬂ]

Options:

Vaisesika
X0

| % BRRE
Carvaka

2. 8 T
Yoga

3 @ exvitel
Nyaya

4 % vy
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Correct Marks : 2 Wrong Marks : 0

Who among the following contemporary philosophers stated that ‘Religion
is not meant for empty belly'?
H85w grd KHHSH B o)B & HIHd 50seDs éé{g}éﬁéﬁ N aley

Options :



Radhakrishnan
o800

Tagore
. EPrrE

Krishnamurti
85500

Vivekananda
v DRETrods
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Correct Marks : 2 Wrong Marks : 0
What is the right sequence of triple process of evolution, according to Sri
Aurobindo?
©890tHY (Hsesdn, H0ers Sl HBohed® HBchibh EHdn 26

Options :

Heightening, Widening and Integration.
20D, DJBoHL,STEH0

Widening, Heightening and Integration
SHbohén, Dohe, ﬁ&ioéﬁﬁo



Integration, Heightening and Widening
$3ApESo, DoDHe, HIBoDHE
3. %

Karma, Yoga and Bhakti
éeﬁé, ol s0Bcin 458
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Correct Marks : 2 Wrong Marks : 0

According to Gandbhi, the goal of constructive programme is
of) (Hsetam &m@@é&é sefgBsney oF5sm

Options :

Providing economic relief to the unemployed
K]Eﬁaﬁfgﬁnﬂé @gé Harchain @obohés

1. %

Distributing some wages to spinners and weavers
SEE B8 JSJ rB8 Blod F$Ho Hothes

Creating a non- violent society
2205 B D3PEPR)) S0 BN

Quit India programme

4 % TOSBE alrpSen s EHEn
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Correct Marks : 2 Wrong Marks : 0

Who amongst the following thinkers gave prominent emphasis on the concept
of ‘Intellect and Intuition?
& (808 68’ S85hed® DD HB0M ©oss g EBEvyor smBolSH

Options :

K.C. Bhattacharya
8.0, aﬂ%aﬂfﬁg}

S. Radhakrishnan

B

PR ooprE)Ri

Ighal
=l

M.N. Roy
ch0.a8. Trdw
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Correct Marks : 2 Wrong Marks : 0



The book ‘My Experiments with Truth’ is written by
‘D D5 0OD0D) DS (Lorsd’ o HIE SSones.

Options :

JidduKrishnamurty
2D @%ﬁi}]ﬁﬁ
® = ==

SwamiYogananda
P8 GirreRone

Shri RamanaMaharshi
L_%t‘jcﬁjvea éja":mql

Mahatma Gandhi
a’m‘!’.yéé mob)
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Correct Marks : 2 Wrong Marks : 0

Who among the following propounded the concept of ‘subject as freedom'?
VY OF (Do’ wgEHtD (H8arBODKA?

Options :
K.C. Bhattacharya

1@} &0 aﬁégaﬁéé

M.N. Roy
> % 0Do.0a. oedo



A K.Coomaraswami

3 % o). 8. gjé}‘jiﬂﬁl“‘fﬁh
S. Radhakrishnan
~\E ot

. . D“ﬁ)'“g&‘-,%aﬁg
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Correct Marks : 2 Wrong Marks : 0

The idea of 'supermind’ is connected with the philosophy of
b Dol ©F grss BIHS 6 Jorosos® Eod &obd

Options:

S. Radhakrishnan

B

DR. Dﬂ@ﬂé&%ﬁ

T.M.P. Mahadevan
o B.05.0. TS

Sri Aurobindo
3 ©bDo&’

K.C. Bhattacharya
4 % 8. Q. aﬂ%aﬂ}d‘g
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Correct Marks : 2 Wrong Marks : 0

Match List-1 with List-ll ad select correct answer by using the given code:
erder |, erder I, 2839 858 850w RBGEE earanid ohin

List | List II
(Books) (Authors)
2seeD Bdomnsen
a. Religion of Man . Sri Aurobindo
B0RGHS ©5 HS 18 @690
b. Freedom from the Known ii. Rabindranath Tagore
o D & S5 5Dol5rE exipb
¢. Eastern Religions and Western Thought  iii. J. Krishnamurty
80 BD2ahoiy) HBAkn ﬁ‘ﬁgﬁcl ] z. 85078
d. The life Divine iv. S. Radhakrishnan
8 85 &35 5. TgrlBHS
Codes:
8
Options :

1. % a-i, b-ii, c-ii, d-iv
5 % a-ii, b-i, c-iv, d-iii
a-iii, b-iv, c-i, d-ii

3. %

a-ii, b-iii, c-iv, d-i
4.

Question Number : 79 Question Id : 51714410582 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

‘Sarvadharma Samabhava’according to Gandhi means
QBY §8) Drgrd @od rrof b [Hseto

Options :

All religions should be synthesized
@) Srero Hoghowed

1. %
All religions teach moral values
@) Hreven 3BE Dendeoid S°Gron
2. %
All religions are to be treated equally
o) reroin JErdore Sreed
3.¢
There is the unity of all religions.
S Srare i 8y 608,
4, %
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Correct Marks : 2 Wrong Marks : 0

True knowledge according to J. Krishnamurty is
2. (833w8 b (@Hsetam Desghd e

Options :



revealed by mystics
Ao S5 oegoe @0en DEOH.

conditioned by experience
©giHo ome wdBob

obtained by religious reflections
. 8 (H8Dozre oo AB)E0k

unconditional awareness
B8&en B9 odmded
4, &
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Correct Marks : 2 Wrong Marks : 0

Who said that ‘Concepts without percepts are empty and percepts without
concepts are blind'?
‘HPEd B grdden Eridgain. aPHHD0 @HrrsTEHen r‘iltg;&‘}' 26 e)h J567?

Options :

Kant

1\_/51305

Locke
2. % E}’}é



Berkeley

3 % a}ﬂéﬁl
Spinoza
4 % ?Jﬂsﬁﬁ_.’“
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Correct Marks : 2 Wrong Marks : 0

The philosophical concept of God as the infinite and boundless matter was first
advocated by
33 ©HoHin, fmiﬂgéﬁ)&, @i Frod Gt i (3.’};-3%23@(65.

Options :

Aristotle
@65;&5

Anaximander
v &}m@a’motﬁﬁ

Anslem
90 Fe0)

Heraclitus
Baplep=Io0
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Correct Marks : 2 Wrong Marks : 0

Who among the following says, ‘Act as a member of kingdom of ends’?
Bohtian e 0ok) aing) H3ixdre (@HHhodh eXb.

Options :

Aristotle
E:-Bﬁg;@ef

Spinoza
EJQ%BDE‘S“

Mill

Kant
5P06
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Spinoza explained the relation between mind and body by the help of
#8850, HsHe &g HooLERy 63 HHechos&d ?J;,c%ﬁomv LmbBooeth

Options :

Interactionism
Db Baredismn

1. % o

Parallelism
Laroate setam

Pre-established harmony
S008rTS E@Jaﬁé&é JeanB:igam

Identity-in-difference.
Eefok gvlalels)
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Correct Marks : 2 Wrong Marks : 0

The objects of phenomenological enquiry are
EHARah Dardes ogTgen

Options :

External Objects

- w;’jgg OFR5ED



Intentional objects
é@%&:}iﬁ&é 5D

Extensional objects

- Er&A0s) egen

Ideal Objects

4% @Eﬁiﬁ% ©5EED
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion(A), and the other
As Reason (R):
a8 doth SB%en oméageamzom. cj;,ﬁ}éfﬁm(ﬁ\), sedeaan(R)

Assertion (A): According to Quine, the verificationist theory has taken

language in a very piecemeal fashion.

cﬁaﬁ)étﬁm(ﬂ): R ([@Hse8E, cﬁe‘jﬁ}étﬁm Q:peadly Depossn dmEen dmEe fasd
fﬁP‘@&iﬁg%"oE}.

Reason (R): It therefore has resulted in a sort of reductionism.
In the context of the above two statements, which of the following
is correct?

8san(R): @othden b é@o@m‘,ﬁom Sdirgod.

In the context of the above two statements, which of the following is correct?
2 SBoth Dese Josth)od BIHD aIE° DB SBED6.

Code:
5553:

Options :

1.9



Both (A) and (R) are true and (R) is the correct explanation of (A).
(A), (R) Bo&s 56@3563 (R), (A) g J6GHD DHBes

Both (A) and (R) are true but (R) is not the correct explanation of (A).

L« (A) (R) Boto KOS, D (R), (A) Bn¥) OGS e 52

(A) is true but (R) is false.

3 % (A) HBGHRG (R) HBch&Es sto

(A) is false but (R is true.

4 % (A) 28ahid 52t (R) D8
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Correct Marks : 2 Wrong Marks : 0

Both Plato and Aristotle believed that knowledge must be
2265, E}E&i};&ﬁ [$sedo, %Eﬁa’m

Options :

of matter and not form
a8 DRG0, Bresisin %

both of form and matter
BrHsm, DHXGHT B



neither of matter nor of form
S CH0 5. BN 50D

of form and not matter

4 ErHo D0 529 Dhcho B
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Correct Marks : 2 Wrong Marks : 0

The ontological proof for the existence of God is propounded by
B3 SRBE S8) B BoerHi (HSarHOIDH

Options :

St. Anslem and Ramanuja
NOHoES. AL BN Trairies

St. Thomas Acquinas and Madhva
RoHotd. Frae 28rn BBakn g

St, Thomas Acquinas and Patanjali
Qachoth. griba 28rd HBcin HEosd

St. Anslem and Patanjali.
0CHo. DR BN HSoed
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Correct Marks : 2 Wrong Marks : 0
Locke suggests that the idea of substance is
%8 Sroed (HsesEn émﬂg@ eEg5n
Options:

Simple idea
, DBY eSS

Complex idea
Q083 TN

Particular idea
L&éﬂjé GTPRN

None of the above
_;Il_}{h o) 5‘}5&__)')
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Husserl supports
ELRle) a’méé:u adh



Options :

Absolute |dealism
}f:ur::ﬂwg e&tﬁ@é&&’m

Absolute Empiricism
Qo8 ePDaeism

Transcendental Idealism

3 ¢ eod3es @tﬁijgéﬂgé}

Transcendental Rationalism
&l PeHaetsSn
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Leibnitz defines monads as
@8g5esoDH B SHIE mer gDow D

Options :

Physical Object
FE S5

Mental Object
SDRME D)

2. %



Centres of force or energy

3 v 29 G Solgren

none of the above.

228 50D
4, %
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Match the following by using the code below
BI0D B85 &556hA%) adsdcinsm

List | List Il
(Thinker) (Doctrine)
TSN Ve Te 9T ?;Jt::trgoaﬂa’m
a. Descartes I. Doctrine of Modes
& 580 B3 Rrrodsin
b. Berkeley il Doctrine of Monads
3:15&3) T o 1)) ?oczgoéa’m
c. Leibnitz iii Esse est percipi
8&°0E
d. Spinoza iv. Doctrine of Innate Ideas
Eﬂ:‘ﬁﬁoaﬁ sTeEs EPRe ?ot:gcéa'm
Code:
&
Options :

| % a-iv, bei,c-ii, d-iil

a-iv, b-iii, c-ii, d-i
2. ¥



3. % a-ii, b-iii, c-iv, d-i

a-iii, b-iv, c-ii, d-i
4. %
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Wittgenstein authored
mﬁ%g_@{% Eahla

Options :

: TractatusLogicoPhilosophicus
LW

Critique of Pure Reason

2.

On Certainty
3, *®
4 % Zettle.
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Correct Marks : 2 Wrong Marks : 0

The enjoyment of the fruits of the karma that yet has not been started is called
88) $Dered ©iHgdoher omosH Erdodo seEaRReD

Options :

Sancita Karma

Sofes Eﬁé lelnble®

Sanciyamana Karma
PI0FECNRTH étﬁé S0LHtH

Prarabdha Karma
8y 88 ®@othth

Anarabdha Karma
Efﬂ“ﬂﬂ% éﬁé 20toth
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Correct Marks : 2 Wrong Marks : 0

Which one of the following is the correct sequence?
& BIOD S DB HBGHS (Esodm.

Options :



Jagrat, Susupti, Svapna

W e
aaﬁ."ie:,e'lé, SVESVES SIS0}

Jagrat, Svapna, Sususpfi

) o ﬁﬁﬁe}& K:ué;’}d\e F0ae)

Svapna, Susupti, Jagrat
KJ&E"}\_, 0aD), mw’j;é’%

3. %
Susupti, Jagrat, Svapna
4 % “DaDa), ﬁ“ﬁﬁ}@, %80,
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Prabhakara and Bhatta schools of Mimamsa differ on the following concepts
5288, ﬁ%@ Hsrod ?ocjgo@ﬂtn & B9 grdddd 3esd €570,

Options :

Pramanfa, Prameya, Dharma
&m0, [Habaho, &80

Pramana, Prameya, Khyati

- &0, (Habaho, %58



Prameya, Khyati, Dharma

3 % Habado, g5, cﬁe_’)@o

Pramana, Dharma, Khyati

. [238rEs 0, dﬁé&o, g5
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Correct Marks : 2 Wrong Marks : 0

Which one, according to the Jainas, is not ‘AstikayaDravya™?
2de (Hsedin S brHd 0E® 06 ©R5eab (B555Em SeLh.

Options :

Jiva
by

Akasa
eI5e

Kala

Dharma

ale)]
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Correct Marks : 2 Wrong Marks : 0

The kinds of conjectures used by Descartes to doubt every proposition that he
possibly could are:

& 500 &0 J0HKOR HEFESD HSodonohe S &xke S

Options :

Dream conjecture and God
o &5 s0B0n Fadsn

Evil demon conjecture and holy ghost
é’u;eﬁjné &35 sn8ain H|S r:-_?éé

Dream conjecture and evil demon conjecture
gey &85, iﬁ% gires &ase

God and holy ghost conjecture
BRI, DS ©8) 685
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If A proposition is true. E, | and O propositions are
Q) (HBTPES DBFBE, 3, B, & (DRSS

Options :

false, true and false
E:-a:nrlge, Reso snBadw Efrajrtgo

false, false and false
@3:1%‘;0, @mgo Sobain @mﬁgc

true, false and false
fezo, Eﬁ&]ﬁéo 0B @mtgo

true, true and false.
fez0, De2o B @eacgo
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The mood of a syllogism depends on
2ER20 grdo HID srdHd &oénod

Options :

quality of premises

1 % HEH EDEEE'E_‘Q



quantity of premises
286 HDBHTesD

2. %
both quality and quantity of premises
566 » TPrags, HBEsIN BotHi
3. ®
quality and quantity of premises and conclusion
566 Treasd, HBXeesin HBAW HwA0Y
4.+
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Determining the validity and invalidity of arguments is the special province of
aetiRe HiEshin, eihined &gmofﬁj@ 2= ATavEy (ﬁ@éﬂ}g 202080006

Options :

Inductive logic

1% a5 a0 éc‘ﬁé&’m

Deductive logic

DS SBm
2. ¥

Symbolic logic
3 % Lﬁémé@é S50



Traditional logic
ro|HarahE S8
4, %
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In categorical syllogism, the middle term is the term that occurs in
DHe SPBesodd, S Ing 55&% & BHS U8 FoDoHd

Options:

Major premise only
et (DD Hoesah

Minor premise only
DS (DD S

Both major and minor premises
hath, S Bod BpDHed

Conclusion
S0hoHE
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A statement form that has only false substitution instances is called
@085 (HEgEmcdh sursEdn So D508 Erard) oner ©otrs

Options :

Tautology
et

Contradiction
SeiEn

Contingent
305w

Implication

E’Oé&ﬁ\ﬁ“{j )
4, %
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Who is the author of the famous anthology ‘Linguistic Turn'?
'E)oﬁfj%gg 00y e Doy Hoder BSond

Options :



G.E. Moore

5 % Bertrand Russell

Wittgenstein
3. #®

Richard Rorty
v
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Who made the distinction between sense and reference?
grDdan, Jordde gy Sed SrDodHe

Options:

Frege
1.4

Wittgenstein
2. %

Quine

4 % Dummett
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The founder of modern bhenomenology is
5% )Pk SEDHEN

Options :

Brentano

5> % Meinong

Husserl

Pierce
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Who among the following contributes to Critical Hermeneutics?
(BAES TrDRmBEy 50N



Options :

Heidegger

> Habermas

3 % Rorty

4 » Gadamer
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The term hermeneutics covers
EPB@_SJG?JEQ @Hrme

Options :

Understanding Text
BS5& E}goémgﬁs’:ﬁ@

1. %

Interpretation of Text
53555 DHBohe

Both a and b

2 a, b Bo®id
3.¢



Meither A and B
2 a, b dor so5)
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Name the author of the book ‘Logical Investigations’

"epREe aﬁ&%ﬁéﬁw " BSomne

Options :

Wittgenstein

Husser|

Dummett

Heidegger
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Realists admit the existence of
FIDETHen D &8 2.3 B0t

Options:

Innumerable objects

1 DB Hiireahen

One object, i.e., God
, 8 DY o GDw

2.
Two objects, viz, God and Mind
3 dotH dhniyen B, a0y
Mental Objects
APROE D0aYeN
4, %
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How many kinds of causes are recognised by Aristotle?

nLs™

o) S50 se8erod wdR8S KgoT.
Options :

Three
S0P



Four
5 TeeNiD

Six
3t

Ten

nt
4, % D
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Who has introduced the concept of Logical Syntax?
a°Eg QTees FARNINTY @ﬁﬁj@é&.

Options :

Carnap
1.4

, % Schilk

Wittgenstein

None of the above
2 TTBHE® 5%
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Match List | with List [l and select the correct answer using the code

given helow:

i |, e || & 2830 86 63BrA% HBEHE saraid Jobddcmnsn
List | List Il
Thinker Books
& St DRseeD

a. Frege I. From a Logical Point of View

b. Russell ii. Sense and Reference

c. Wittgenstein jii. The Blue and Brown Books

d. Quine iv. My philosophical Development

Codes:

555‘:,:

Options :

a-iv, b-iii, c-ii, d-i
> % a-ii, b-iv, c-i, d-iii
a-ii, b-iv, c-iii, d-i

3.¢

a-iv, b-i, c-ii, d-ii
4., %
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Given below are two statements, one labelled as Assertion(A)and the other labelled
as Reason (R). In the context of these two, which one of the given options is true as
per logical positivism?

BI9% Both DIBSen ondbis. w88 §OKsE (A) Bokbh sbmsn(R). &

[lslela) éofﬁt‘g&’m@ﬂw&&é aRiEred [Hsdimn adpds Johged’ 08
A

Assertion (A)- Metaphysics is- non-sense.

BVEBB(A)- Derdegy oo BB

Reason (R)-Metaphysical statements are not verifiable.
sOmn(R) - erpRL) M08 B8rE EDRASD =P

Codes:
555“\1

Options :

Ais true and R is false and R provides a correct explanation of A.

. ARBDIE R b R A Gk $6TS D5
1.

Both A and R are true and R provides a correct explanation of A.

, v AR Boh 5B R.A ¥ $6GS H5es

Both A and R are false and R does not provide a correct explanation of A.
A.R Both H8G@H 528 R, A @n¥) $8GHH Dt 525

Ais false and R is true and R does not provide correct explanation of A

A 5BEHB ot RHBIDIB R, A Gog) 506G 58m s°
4, %
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According to Sankara, the world is
FoER (S8 [HHosEn

Options :

Real
SPRN0

Ultimately Unreal
©o8506° wardso

2.
llusory

3 ¥ el iteFRsInla)
Like a dream

4 ge) 2086

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 116 Question Id : 51714410619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match List-I with List-1l ad select correct answer by using the given code:
wder |, O e 1 8 28555050 H6a0 E6H SH@rA%) HBEHS

2257920 )oHEBTEw

List | List Il
(Theories of Error) (Philosopher/School)
&84 QLTOB°ED S5 [orpodo

a. Akhyati i. Prabhakara
e:'spvg@
b. Viparitakhyati ii. Nyaya

&ééé$ga

C; Anyathakhyati jii. KumarilaBhatta

g ey ®

d. Adhyasa iv. Advaita/edanta
Ll

Codes:

&8

Options :

a-i, b-iii, c-ii, d-iv
1.¢

a-ii, b-i, c-iv, d-iii

3. % a-iii, b-iv, c-i, d-ii

4 % a-ii, b-iii, c-iv, d-i
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Which of the following is NOT correct regarding pragmatism?
g0 HEErsind® & B0 0E° OB JSBEHG ot

Options :

Pragmatism accepts any definite/ eternal truth or principle
555008 Sarartdn pi)Shd TEE H&857) / Sreed) e0hE6:500
1.4

According to the pragmatists truth is manmade

Bs5e08 Heardiin (D5e8am DG N ?CJU‘:%E‘&E{)}J
2. # S2

Pragmatists do not support spiritualism
3 % 508 Daoarsin @mg@ééeﬁéa mgauomgs;

Pragmatists stress equally on acts and thoughts

Bs3r08 Demartisin, Stgeid - pradei Hirdomr Harp.
4. %
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Richard Rorty argues that the pragmatists hold a view that could be described as
F5Ss88 Seerhed efFrdbo B0l ol oner JSBoe S G5 ESEQ

TP,
Options :
Objectivist

e_}géaﬂ&
1. %



Ethnocentric
28 Bo|BEE
w5 es

Self-refuting
?35653 OS5

Equivocal
éo&ﬁg@a’a
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The domain of ethics that includes professional ethics and practical ethics is
termed as
)8 NBhid @eﬁj@,@éﬁﬁvé@éc@éﬁm Sod &) J88 é@"}&;

Options:

Positive ethics
Teo¥re Hen @0t

Applied ethics

, ¢ OGS Jen SO

Normative ethics

3 % Solgaradh Deben @othHth



4 % Meta-ethics
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The notion of ‘Corporate Social Responsibility’ is related is
?5&3&? FEnRE aeiss e &S SomosEnod

Options :

Medical ethics
Slaly Heben

Business ethics
aﬂéﬁﬂé Héeboen

Media ethics
3 % (D8 Deoen

Bio ethics
25 Heboen
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Who put forward strongest arguments against abortion?
K erardd é&@ﬂéonﬂ 58 edden 5 A

Options:

Liberalists
&retaeinen

Feminists
AL

Consequentialists
BRI artSoen

Conservatives
HolPmrdd aethen
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Who wrote the famous philosophical work 'Thus Spoke Zarathustra'?
&& BB eroed) o @0)F (Hdwg B5S L5

Options :

Friedrich Nietzsche
1.¢



Soren Kierkegaard
2. %

Martin Heidegger
3. %

4. % Albert Camus
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The principle of non- contradiction is a fundamental concept inthe

philosophy of
StEso =0 oS o Seden S HIDH &g R (@rtienE gPaid.

Options:

Kant

1. %

Aristotle
2.

Thomas Hobbes
3_ W

Hume
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The philosophical concept of Nihilism suggests that
EPRGEPERND) S8R DD Srdohds

Options:

Everything is connected
(58 DNDB Do2oPEwotnod

Life has no inherent meaning and value
2008 Jerdy ©Bm, Dends

Reason is the source of all knowledge
5*8eesn JBepards HH

The mind and bodies are separate entities
Soido, $885w A% &UGEJE_TDDQJE‘_}J
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According to existentialism, the individuals are responsible for giving meaning of
their own existence. Which philosopher is closely associated with this idea?

@%})éﬁ PR (D58, den S5 688 @ga”m ojaz‘falz.é.}eﬁﬁ 0 grLigen
& grded O éé&ﬁéé} S58 Somogio &ob.

Options :

Jean-Paul Sartre
1.4

> % Friedrich Nietzsche

Albert Camus
3_ W

Simone De Beauvoir
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According to Kant, a person becomes aware of the freedom of his will because
5708 (D580 2 58 &S @5}{3@ ﬁéiﬁljéj Benn80trl8 5o

Options :

It is an apriori condition of the experience of obligation.

@8 argidgrd) HdionT é?ﬁd pSTe 5y
1.4

He has empirical experience of it.
> % 225008 orf) eargEdE @indinan Gob



It is an apriori condition of experience of senses.
@) Bo|BEST0Y N Jrbe (¢ A8

3.4
It can be demonstrated by science.
4 PR BR(RIISEEEM (HEG0BDE.

Question Number : 127 Question Id : 51714410630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Point out from the following statements the correct reasoning as regards Hume’s
statement that ‘self is a fiction’

53“05533 D36E f);bdﬁ) E’.@JE& % BINS 9360 Hobd H6cHK soBEsD
£ HDD 7ol Senshm

Options :

Self is ego.

 Beohd esto
1' ® oJ

Self is unreal ‘I’ entity.
Rroh ©36 eardHo “ Fidb ” ©RE0

2. %

Self is mere association of semi-impressions.

Sood wab Bdwo &9 ode oo
3.4 B et

Self is a withess.

4 % =3 fﬁéﬁ:ﬁjo e 8
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‘Fire is cold, because it has coldness’ the inference commits the fallacy of
©f)) S006 se8mo iE® Jeio sob’  * elErFirn 7 & wiirobh

TB&08.
Options:

Anaikantika
edseoas

Badhita
AR

Asiddha
@ad
(]

Satpratipaksa
DS[H8DE,
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Who among the following holds that the Karana - sémagri of jidna is also the
Kérana-Samagri of its validity ?
o e SN - 00 Do S0k PN Eree S grid Soartd

Options :

Gautama
A°e550

1. %

Kanada
2. % Sedd

Kumarila
Haebe
3.¢
Nagarjuna
S Ta eV
4. &
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FPrama according to the Buddhists is
QRO (35780 (a0

Options :

1.4



Ajfiata tattvartha jfiana
oepd S8 erdo
o o

Tadvati tatprakarakam jianam
. SRS 88HseBo apdo

Samyak jAianam
508y apdo
3, % N

Anadhigata-abadhitartha jianam
Ervilalats] @w&:@ﬂg a;ﬁao
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The Self in the state of waking (jagrat) is termed by MandukyaUpanisad as
baab eyl 38" B Frodryy aINRHSE" & Hifore DHBFB

Options :

Vaisva

3%

1.

Tejasa
) % Bexd
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Match List-l with List-1l and select correct answer by using the given code:
wder Leder | 8 2858550 B6H s5@rA% KB@N waraid

DoE Vowam
List | List Il
(Books) (Philosopher)
sJ)e)sPen e‘_ﬁé‘gjﬁg
a. Slokavartikam i. Udayana
LErBE0 nfout
b. MadhyamakaKarika ii. Ramanuja
s o068 DraDRDEs
c. NyayaKusumanjali jii. KumarilaBhatta
o5dDH Hiodoozrd Leede ﬁf%
d. VedarthaSamgraha iv. Nagarjuna
Soeg Dol SElaterty
A s
Codes:
&8
Options :

a-i, b-iii, c-ii, d-iv

5 s ailbe, ceiv, dHi



3 & a-iii, b-iv,c-i,d-ii

a-ii,b-iii, c-iv, d-i
%
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According to the Nyaya school, ‘Samanya Laksana, Jiana Laksana and Yogaja’
are three different kinds of

%50 ?Jt:;;oiﬁo [Bs=80, n%'va’)ﬂ“é?s oFe, %36 o mniie @b S BrH
aPR) St Bseen

Options :

LaukikaPratyaksa
S°88 (HesgE

AlaukikaPratyaksa

- 88 (88

_Svarth aAnumana
. ﬁj_gtg ORI

Parartha Anumana
E'Jcﬂg BT
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According to Acarya Ramanuja, ‘Aprthaksiddhi’ is a relation between
esely Trairine (selo @{}éiﬁgﬁa% & &I D gy DodoHN

Options:

Jiva and Brahman
#0, (@mps

Jiva and Jagat
2%, K

Jagat and Brahman
e3tieh), (e05%yes

Maya and Brahman
S, (225588
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Which one among the following schools holds that Avarana and Viksepa are two
powers ofAvidya?
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Options :

Mimamsa
Shdrod
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Buddhism

_ znboweo
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Samkhya
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AdvaitaV/edanta
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Which one of the following theories of causation is upheld by VallabhaAcarya?
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Prakrti-Parinamavada
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Brahma- Parinamavada
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Avikrta- Parinamavada
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‘Acintya-Bhedabheda-Vada'is a theory that explains the relation of Jivas with

Brahman as one of difference and identity. Who among the following Vaisnava
thinkers holds on to this thesis?
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Options:

Vallabha
068
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Ramanuja
TR0

Chaitanya
8885
4.
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‘Satadishani’ is a vada-grantha that contains arguments and criticisms against
Advaita theory of Sankara. Who among the following Vaisnava thinkers is the
author of the book?

PEETRE @00 el i (Koo, HBASE FoEH CTaNs ?Ot:go@ﬂﬁ)% Sjé)gonﬂ ot

K)ﬁ)},&éﬁﬁ%m &anom, g B @@é s Srdtheds 256 & DRE Boms,
Options :

VedantaDesika
Srod O8E

SudarsanaSari
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Jaya Tirtha
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SrnivasaChari
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What is the name of the commentary that Ramanuja Acarya wrote on
Brahmasdtra?
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Options:

Chatusitrai
50|85 0m

SarirakaMimamsa
688 Hdrod

SriBhasya
e
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‘Consequence of action is the basis of moral judgement’ is the theory attributed to
Bofe SEESsn 388 SrEedd errdin. & Jrposed) B8 eB"0SnBH.

Options :

Emotivism
" adr&Dezan

Ethical Egoism
DBES ffonezo

Deontological theory
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Consequentialism
soRgERAeRdaTtien
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Which one of the following thinkers has considered Justice to be a ‘Cardinal Virtue'?
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Aristotle
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Mill
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Bentham
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Plato
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According to Moore, goodness is
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Analysable property
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Complex property
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Natural Property
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‘Moral judgements are not assertions but merely emotive expressions'’is the view
advocated by
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Free-will in ethics means
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The individual is free to do anything
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1. %

The individual is Not free to do anything
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The individual has to act according to the state laws.
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The Individual is free to act keeping in view some of the norms.
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‘BEudemonism’ in ethics means
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Education
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Wisdom
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Well-being
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Who among the following contemporary thinkers said, ‘God is Truth’ and ‘Truth is
God'?
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Swami Vivekananda
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Sri Aurobindo
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K. C. Bhattacharya
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Which one of the following books contains ethical concepts such as
‘LokaSamgraha’ and ‘Bhutahita’?
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Options:

Bhagavad Gita
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‘Angel of Surplus’ is a notion connected with the philosophy of
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‘Non-violence is the law of our species, as violence is the law of the brute’is a
statement from the works of
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Rta in Vedic cosmology means
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Permanency of the world
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Eternity of the Absolute
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The Supreme Administrator
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The order of cosmos and the world.
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